сту с	PF KENT			l 1		] 2		] 3		1 4		l 5	
2nd Avenue Pedestrian Improvements		BIDDER'S		Road Construction N	orthwest, Inc.	RW Scott Construction	n Co.	SCI Infrastructure, L	LC	Johansen Excavatin	g, Inc.	Rodarte Constructio	n, Inc.
	•	NAME AN		P.O. BOX 188	·	4005 W. Valley Hwy.	#A	1508 Valentine Ave.	SE	28215 112th Street	•	P.O. BOX 1875	
		ADDRESS		Renton, WA 98057		Auburn, WA 98001		Pacific, WA 98047		Buckley, WA 98321		Auburn, WA 98071	
										, , , , , , , , , , , , , , , , , , ,			
		TOTAL			\$279,156.00		\$289,950.00		\$299,665.00		\$301,985.00		\$306,750.00
ITEM					TOTAL		TOTAL		TOTAL	-	TOTAL		TOTAL
NO.	DESCRIPTION QUANTITY	ι	JNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHED	ULE I - STREET												
1000	Mobilization	1	LS	\$27,000.00	\$27,000.00	\$33,540.00	\$33,540.00	\$9,000.00	\$9,000.00	\$33,850.00	\$33,850.00	\$35,000.00	\$35,000.00
1005	Clearing and Grubbing	1	LS	\$8,640.00	\$8,640.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
1010	Remove Existing Asphalt Concrete Pavement	50	SY	\$7.00	\$350.00	\$10.00	\$500.00	\$11.00	\$550.00	\$3.00	\$150.00	\$10.00	\$500.00
1015	Remove Existing Cement Concrete Driveway/Pavement	250	SY	\$9.50	\$2,375.00	\$10.00	\$2,500.00	\$12.50	\$3,125.00	\$5.00	\$1,250.00	\$15.00	\$3,750.00
1020	Remove Cement Concrete Sidewalk	1,000	SY	\$6.75	\$6,750.00	\$6.00	\$6,000.00	\$7.35	\$7,350.00	\$3.00	\$3,000.00	\$12.00	\$12,000.00
1025	Remove Cement Concrete Curb and Gutter	300	LF	\$3.50	\$1,050.00	\$5.00	\$1,500.00	\$5.50	\$1,650.00	\$4.00	\$1,200.00	\$6.00	\$1,800.00
1030	Remove Cement Concrete Extruded Curb	50	LF	\$2.25	\$112.50	\$5.00	\$250.00	\$5.00	\$250.00	\$3.25	\$162.50	\$5.00	\$250.00
1035	Existing Irrigation System Removal, Repair and/or Modification	1	FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
1040	Removal of Raised Pavement Markers and Painted and/or Therr	1	LS	\$1,250.00	\$1,250.00	\$700.00	\$700.00	\$1,000.00	\$1,000.00	\$685.00	\$685.00	\$600.00	\$600.00
1045	Traffic Sign Relocation	15	EA	\$120.00	\$1,800.00	\$200.00	\$3,000.00	\$160.00	\$2,400.00	\$100.00	\$1,500.00	\$60.00	\$900.00
1050	Saw Cut Existing Asphalt Concrete Pavement	350	LF	\$1.60	\$560.00	\$3.00	\$1,050.00	\$3.50	\$1,225.00	\$1.50	\$525.00	\$2.00	\$700.00
1055	Saw Cut Existing Cement Concrete Pavement	50	LF	\$4.50	\$225.00	\$10.00	\$500.00	\$15.00	\$750.00	\$4.45	\$222.50	\$10.00	\$500.00
1060	Roadway Excavation, Incl. Haul	175	CY	\$48.00	\$8,400.00	\$30.00	\$5,250.00	\$35.00	\$6,125.00	\$14.25	\$2,493.75	\$30.00	\$5,250.00
1065	Unsuitable Foundation Excavation Incl. Haul	50	CY	\$16.75	\$837.50	\$10.00	\$500.00	\$10.00	\$500.00	\$25.50	\$1,275.00	\$40.00	\$2,000.00
1070	Geotextile Fabric, Non-Woven	50	SY	\$2.25	\$112.50	\$10.00	\$500.00	\$4.00	\$200.00	\$2.50	\$125.00	\$7.00	\$350.00
1075	Gravel Borrow, Including Haul and Compaction	50	TON	\$16.00	\$800.00	\$30.00	\$1,500.00	\$25.00	\$1,250.00	\$17.00	\$850.00	\$25.00	\$1,250.00
1080	Crushed Surfacing Top Course, 5/8 Inch Minus	275	TON	\$30.00	\$8,250.00	\$23.00	\$6,325.00	\$28.00	\$7,700.00	\$18.85	\$5,183.75	\$30.00	\$8,250.00
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	25	TON	\$37.00	\$925.00	\$30.00	\$750.00	\$33.00	\$825.00	\$18.00	\$450.00	\$35.00	\$875.00
1095	HMA Class 3/4", PG 64-22	15	TON	\$165.00	\$2,475.00	\$250.00	\$3,750.00	\$275.00	\$4,125.00	\$265.00	\$3,975.00	\$210.00	\$3,150.00
1125	Cold Plant Mix for Temporary Pavement Patch	10	TON	\$185.00	\$1,850.00	\$125.00	\$1,250.00	\$150.00	\$1,500.00	\$120.00	\$1,200.00	\$110.00	\$1,100.00
1140	Cement Concrete Commercial Driveway, 8 Inch Depth, Reinford	250	SY	\$40.00	\$10,000.00	\$44.00	\$11,000.00	\$55.00	\$13,750.00	\$51.00	\$12,750.00	\$50.00	\$12,500.00
1145	Cement Concrete Sidewalk	1,100	SY	\$28.00	\$30,800.00	\$30.00	\$33,000.00	\$41.00	\$45,100.00	\$40.00	\$44,000.00	\$32.00	\$35,200.00
1170	Cement Concrete Sidewalk Ramp Type 2A	8	EA	\$1,100.00	\$8,800.00	\$1,200.00	\$9,600.00	\$1,300.00	\$10,400.00	\$1,350.00	\$10,800.00	\$1,200.00	\$9,600.00
1205	Cement Concrete Curb and Gutter	300	LF	\$16.25	\$4,875.00	\$15.00	\$4,500.00	\$21.00	\$6,300.00	\$21.00	\$6,300.00	\$18.00	\$5,400.00
1210	Reinforced Raised Pedestrian Curb	50	LF	\$17.50	\$875.00	\$16.00	\$800.00	\$16.50	\$825.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00
1220	Replace Existing Catch Basin Frame and Grate	3	EA	\$325.00	\$975.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$420.00	\$1,260.00	\$350.00	\$1,050.00
1225	Adjust Existing Valve Box Top Section and Lid to Finished Grade		EA	\$300.00	\$300.00	\$350.00	\$350.00	\$200.00	\$200.00	\$235.00	\$235.00	\$150.00	\$150.00
1230	Lower Existing 3/4-Inch Meter Setter	1	EA	\$300.00	\$300.00	\$600.00	\$600.00	\$300.00	\$300.00	\$100.00	\$100.00	\$50.00	\$50.00
1235	Adjust Existing Meter Box to Finished Grade	2	EA	\$300.00	\$600.00	\$250.00	\$500.00	\$185.00	\$370.00	\$215.00	\$430.00	\$50.00	\$100.00
1245	Replace Existing Meter Box for up to 3/4-Inch Diameter Service	1	EA	\$575.00	\$575.00	\$200.00	\$200.00	\$300.00	\$300.00	\$400.00	\$400.00	\$325.00	\$325.00
1250	Replace Existing Meter Box for 1-Inch to 2-Inch Diameter Servi		EA	\$600.00	\$600.00	\$300.00	\$300.00	\$500.00	\$500.00	\$400.00	\$400.00	\$325.00	\$325.00
1255	Abandon Existing Water Service	1	EA	\$180.00	\$180.00	\$750.00	\$750.00	\$500.00	\$500.00	\$1,250.00	\$1,250.00	\$175.00	\$175.00
1315	Pothole Utilities	30	EA	\$200.00	\$6,000.00	\$250.00	\$7,500.00	\$350.00	\$10,500.00	\$185.00	\$5,550.00	\$120.00	\$3,600.00
1320	Salvage Existing Landscape Tree	6	EA	\$130.00	\$780.00	\$250.00	\$1,500.00	\$525.00	\$3,150.00	\$405.00	\$2,430.00	\$350.00	\$2,100.00
1325	Remove Existing Landscape Tree	5	EA	\$600.00	\$3,000.00	\$800.00	\$4,000.00	\$300.00	\$1,500.00	\$1,000.00	\$5,000.00	\$310.00	\$1,550.00
1345	Watering	100	HR	\$0.01	\$1.00	\$10.00	\$1,000.00	\$50.00	\$5,000.00	\$47.50	\$4,750.00	\$35.00	\$3,500.00
TOTAL	SCHEDULE I				\$144,923.50		\$152,965.00		\$153,220.00		\$158,752.50		\$158,850.00
SCHED	ULE IV - STORM SEWER												
4000	Storm Sewer Pipe, 4 Inch Diameter, Ductile Iron Unlined, Class	35	LF	\$45.00	\$1,575.00	\$35.00	\$1,225.00	\$45.00	\$1,575.00	\$24.50	\$857.50	\$75.00	\$2,625.00
4110	Type 50 Area Drain	2	EA	\$440.00	\$880.00	\$500.00	\$1,000.00	\$600.00	\$1,200.00	\$550.00	\$1,100.00	\$550.00	\$1,100.00
4135	Remove Existing Storm Sewer Pipe or Culvert	35	LF	\$6.50	\$227.50	\$10.00	\$350.00	\$8.00	\$280.00	\$8.00	\$280.00	\$10.00	\$350.00
4175	Crushed Surfacing Top Course, 5/8 Inch Minus	10	TON	\$30.00	\$300.00	\$23.00	\$230.00	\$28.00	\$280.00		\$188.50	\$30.00	\$300.00

2nd Avenue Pedestrian Improvements BID OPENING: October 21, 2009	ADDF	AND	Road Construction N P.O. BOX 188			on Co.	SCI Infrastructure, L	LC	Johansen Excavating,	Inc.	odarte Constructio	n, Inc.
BID OPENING: October 21, 2009	ADDF			4		rthwest, Inc. RW Scott Construction Co.			Johansen Excavating, Inc.		Rodarte Construction, Inc.	
		RESS			1005 W. Valley Hwy	. #A	1508 Valentine Ave.	SE	28215 112th Street E.	P	.O. BOX 1875	
			Renton, WA 98057	4	Auburn, WA 98001		Pacific, WA 98047		Buckley, WA 98321	A	uburn, WA 98071	
	TOTA	.L		\$279,156.00		\$289,950.00		\$299,665.00		\$301,985.00		\$306,750.00
ITEM				TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION C	QUANTITY	UNIT	UNIT PRICE	AMOUNT I	JNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT U	NIT PRICE	AMOUNT
TOTAL SCHEDULE IV				\$2,982.50		\$2,805.00		\$3,335.00		\$2,426.00		\$4,375.00
SCHEDULE V - TRAFFIC CONTROL												
5005 Flaggers and Spotters	850	) HR	\$43.00	\$36,550.00	\$40.00	\$34,000.00	\$44.00	\$37,400.00	\$45.25	\$38,462.50	\$42.00	\$35,700.00
5015 Traffic Control Supervisor	200	) HR	\$44.00	\$8,800.00	\$5.00	\$1,000.00	\$50.00	\$10,000.00	\$43.00	\$8,600.00	\$42.00	\$8,400.00
5020 Other Temporary Traffic Control	1	LS	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$5,450.00	\$5,450.00	\$500.00	\$500.00
5035 Sequential Arrow Sign	400	) HR	\$4.20	\$1,680.00	\$2.00	\$800.00	\$4.00	\$1,600.00	\$4.75	\$1,900.00	\$20.00	\$8,000.00
5105 Double Yellow Center Paint Stripe	10	LF	\$35.00	\$350.00	\$40.00	\$400.00	\$10.00	\$100.00	\$36.00	\$360.00	\$60.00	\$600.00
5115 Plastic No Parking Zone	50	LF	\$7.25	\$362.50	\$8.00	\$400.00	\$10.00	\$500.00	\$8.00	\$400.00	\$12.00	\$600.00
5120 Plastic Crosswalk Line	10	SF	\$35.00	\$350.00	\$40.00	\$400.00	\$25.00	\$250.00	\$36.00	\$360.00	\$60.00	\$600.00
TOTAL SCHEDULE V				\$51,392.50		\$40,000.00		\$52,350.00		\$55,532.50		\$54,400.00
SCHEDULE VI - ELECTRICAL												
6005 Illumination System	1	LS	\$51,500.00	\$51,500.00	\$53,000.00	\$53,000.00	\$60,000.00	\$60,000.00	\$54,000.00	\$54,000.00	\$55,000.00	\$55,000.00
6010 Manual Excavation and Tree Root Removal	100	) HR	\$50.00	\$5,000.00	\$60.00	\$6,000.00	\$50.00	\$5,000.00	\$47.00	\$4,700.00	\$55.00	\$5,500.00
6080 Street Tree Bollard with Electrical Receptacle	3	EA	\$1,185.00	\$3,555.00	\$3,800.00	\$11,400.00	\$1,250.00	\$3,750.00	\$1,200.00	\$3,600.00	\$1,300.00	\$3,900.00
TOTAL SCHEDULE VI				\$60,055.00		\$70,400.00		\$68,750.00		\$62,300.00		\$64,400.00
SCHEDULE VII - TEMPORARY EROSION AND SEDIMENTA	ATION CONTRO	DL										
7005 Silt Fence	100	) LF	\$4.75	\$475.00	\$6.00	\$600.00	\$5.00	\$500.00	\$3.50	\$350.00	\$5.00	\$500.00
7015 Inlet Protection	8	EA	\$70.00	\$560.00	\$60.00	\$480.00	\$70.00	\$560.00	\$65.00	\$520.00	\$60.00	\$480.00
7020 Straw Mulch	25	SY	\$4.00	\$100.00	\$10.00	\$250.00	\$10.00	\$250.00	\$1.00	\$25.00	\$12.00	\$300.00
7055 Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
TOTAL SCHEDULE VII				\$11,135.00		\$11,330.00		\$11,310.00		\$10,895.00		\$11,280.00
SCHEDULE VIII - ROADSIDE RESTORATION												
8000 Street Tree, Including Planting and Staking	3	EA	\$375.00	\$1,125.00	\$1,600.00	\$4,800.00	\$500.00	\$1,500.00	\$1,150.00	\$3,450.00	\$1,200.00	\$3,600.00
8001 Seeding, Fertilizing and Mulching	0.5	AC AC	\$2,800.00	\$1,400.00	\$2,000.00	\$1,000.00	\$1,500.00	\$750.00	\$2,150.00	\$1,075.00	\$2,000.00	\$1,000.00
8005 Topsoil Type A	50	CY	\$33.00	\$1,650.00	\$40.00	\$2,000.00	\$50.00	\$2,500.00	\$47.00	\$2,350.00	\$50.00	\$2,500.00
8010 Sod Installation	25	SY	\$12.50	\$312.50	\$20.00	\$500.00	\$20.00	\$500.00	\$15.00	\$375.00	\$15.00	\$375.00
8015 Bark or Wood Chip Mulch	25	CY	\$37.00	\$925.00	\$40.00	\$1,000.00	\$50.00	\$1,250.00	\$44.00	\$1,100.00	\$45.00	\$1,125.00
8025 48 Inch Square Ductile Iron "Kent" Tree Grate (2 Pie	eces) 3	EA	\$925.00	\$2,775.00	\$850.00	\$2,550.00	\$1,200.00	\$3,600.00	\$1,150.00	\$3,450.00	\$1,500.00	\$4,500.00
8030 Tree Grate and Frame Installation	3	EA	\$160.00	\$480.00	\$200.00	\$600.00	\$200.00	\$600.00	\$93.00	\$279.00	\$115.00	\$345.00
TOTAL SCHEDULE VIII				\$8,667.50		\$12,450.00		\$10,700.00		\$12,079.00		\$13,445.00
SCHEDULE SUMMARY												
SCHEDULE I - STREET				\$144,923.50		\$152,965.00		\$153,220.00		\$158,752.50		\$158,850.00
SCHEDULE IV - STORMWATER				\$2,982.50		\$2,805.00		\$3,335.00		\$2,426.00		\$4,375.00
SCHEDULE V - TRAFFIC CONTROL				\$51,392.50		\$40,000.00		\$52,350.00		\$55,532.50		\$54,400.00
SCHEDULE VI - ELECTRICAL				\$60,055.00		\$70,400.00		\$68,750.00		\$62,300.00		\$64,400.00
SCHEDULE VII - TEMPORARY EROSION AND SEDIME	ENTATION CONTI	ROL		\$11,135.00		\$11,330.00		\$11,310.00		\$10,895.00		\$11,280.00
SCHEDULE VIII - ROADSIDE RESTORATION				\$8,667.50		\$12,450.00		\$10,700.00		\$12,079.00		\$13,445.00
CONSTRUCTION CONTRACT TOTAL				\$279,156.00		\$289,950.00		\$299,665.00		\$301,985.00		\$306,750.00

CITY OF KENT 2nd Avenue Pedestrian Improvements BID OPENING: October 21, 2009		NAME AND		6 Dennis R. Craig Construction P.O. BOX 595 Redmond, WA 98073		1621 Pease Avenue		8 Pivetta Brothers Cor P.O. BOX 370 Sumner, WA 98390		Garrett Inouye Engineer's Estimate		
		TOTAL			\$332,195.00		\$345,811.00		\$394,437.00		\$394,255.00	
ITEM					TOTAL		TOTAL		TOTAL		TOTAL	
NO.	DESCRIPTION QUANTITY		UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
SCHEE	ULE I - STREET											
1000	Mobilization	1	LS	\$22,000.00	\$22,000.00	\$40,000.00	\$40,000.00	\$22,850.00	\$22,850.00	\$50,000.00	\$50,000.00	
005	Clearing and Grubbing	1	LS	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$58,750.00	\$58,750.00	\$15,000.00	\$15,000.00	
010	Remove Existing Asphalt Concrete Pavement	50	SY	\$20.00	\$1,000.00	\$9.00	\$450.00	\$6.00	\$300.00	\$10.00	\$500.00	
015	Remove Existing Cement Concrete Driveway/Pavement	250	SY	\$15.00	\$3,750.00	\$14.00	\$3,500.00	\$11.00	\$2,750.00	\$15.00	\$3,750.00	
020	Remove Cement Concrete Sidewalk	1,000	SY	\$10.00	\$10,000.00	\$11.00	\$11,000.00	\$11.00	\$11,000.00	\$12.00	\$12,000.00	
025	Remove Cement Concrete Curb and Gutter	300	LF	\$5.00	\$1,500.00	\$12.00	\$3,600.00	\$5.00	\$1,500.00	\$10.00	\$3,000.00	
030	Remove Cement Concrete Extruded Curb	50	LF	\$4.00	\$200.00	\$12.00	\$600.00	\$5.00	\$250.00	\$10.00	\$500.00	
035	Existing Irrigation System Removal, Repair and/or Modificatio	n 1	FA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	
040	Removal of Raised Pavement Markers and Painted and/or The	rr 1	LS	\$500.00	\$500.00	\$550.00	\$550.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	
045	Traffic Sign Relocation	15	EA	\$200.00	\$3,000.00	\$95.00	\$1,425.00	\$107.00	\$1,605.00	\$75.00	\$1,125.00	
050	Saw Cut Existing Asphalt Concrete Pavement	350	LF	\$2.00	\$700.00	\$2.00	\$700.00	\$5.00	\$1,750.00	\$5.00	\$1,750.00	
055	Saw Cut Existing Cement Concrete Pavement	50	LF	\$10.00	\$500.00	\$3.00	\$150.00	\$7.00	\$350.00	\$10.00	\$500.00	
060	Roadway Excavation, Incl. Haul	175	CY	\$25.00	\$4,375.00	\$27.00	\$4,725.00	\$24.00	\$4,200.00	\$25.00	\$4,375.00	
065	Unsuitable Foundation Excavation Incl. Haul	50	CY	\$2.00	\$100.00	\$25.00	\$1,250.00	\$30.00	\$1,500.00	\$25.00	\$1,250.00	
070	Geotextile Fabric, Non-Woven	50	SY	\$4.00	\$200.00	\$2.00	\$100.00	\$1.50	\$75.00	\$10.00	\$500.00	
075	Gravel Borrow, Including Haul and Compaction	50	TON	\$20.00	\$1,000.00	\$21.00	\$1,050.00	\$13.00	\$650.00	\$20.00	\$1,000.00	
080	Crushed Surfacing Top Course, 5/8 Inch Minus	275	TON	\$32.00	\$8,800.00	\$22.00	\$6,050.00	\$30.00	\$8,250.00	\$25.00	\$6,875.00	
085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	25	TON	\$32.00	\$800.00	\$21.00	\$525.00	\$30.00	\$750.00	\$25.00	\$625.00	
095	HMA Class 3/4", PG 64-22	15	TON	\$285.00	\$4,275.00	\$250.00	\$3,750.00	\$144.00	\$2,160.00	\$90.00	\$1,350.00	
125	Cold Plant Mix for Temporary Pavement Patch	10	TON	\$100.00	\$1,000.00	\$128.00	\$1,280.00	\$88.00	\$880.00	\$120.00	\$1,200.00	
140	Cement Concrete Commercial Driveway, 8 Inch Depth, Reinfo	rc 250	SY	\$60.00	\$15,000.00	\$55.00	\$13,750.00	\$55.00	\$13,750.00	\$85.00	\$21,250.00	
145	Cement Concrete Sidewalk	1,100	SY	\$40.00	\$44,000.00	\$40.00	\$44,000.00	\$43.00	\$47,300.00	\$40.00	\$44,000.00	
170	Cement Concrete Sidewalk Ramp Type 2A	8	EA	\$1,750.00	\$14,000.00	\$1,400.00	\$11,200.00	\$1,438.00	\$11,504.00	\$1,500.00	\$12,000.00	
205	Cement Concrete Curb and Gutter	300	LF	\$25.00	\$7,500.00	\$20.00	\$6,000.00	\$25.00	\$7,500.00	\$25.00	\$7,500.00	
210	Reinforced Raised Pedestrian Curb	50	LF	\$60.00	\$3,000.00	\$21.00	\$1,050.00	\$106.00	\$5,300.00	\$30.00	\$1,500.00	
220	Replace Existing Catch Basin Frame and Grate	3	EA	\$600.00	\$1,800.00	\$325.00	\$975.00	\$200.00	\$600.00	\$400.00	\$1,200.00	
225	Adjust Existing Valve Box Top Section and Lid to Finished Gra		EA	\$350.00	\$350.00	\$200.00	\$200.00	\$370.00	\$370.00	\$300.00	\$300.00	
230	Lower Existing 3/4-Inch Meter Setter	1	EA	\$350.00	\$350.00	\$200.00	\$200.00	\$489.00	\$489.00	\$250.00	\$250.00	
235	Adjust Existing Meter Box to Finished Grade	2	EA	\$350.00	\$700.00	\$200.00	\$400.00	\$370.00	\$740.00	\$350.00	\$700.00	
245	Replace Existing Meter Box for up to 3/4-Inch Diameter Service		EA	\$600.00	\$600.00	\$200.00	\$200.00	\$217.00	\$217.00	\$300.00	\$300.00	
250	Replace Existing Meter Box for 1-Inch to 2-Inch Diameter Ser	∕i 1	EA	\$1,200.00	\$1,200.00	\$200.00	\$200.00	\$498.00	\$498.00	\$500.00	\$500.00	
255	Abandon Existing Water Service	1	EA	\$600.00	\$600.00	\$200.00	\$200.00	\$370.00	\$370.00	\$500.00	\$500.00	
315	Pothole Utilities	30	EA	\$100.00	\$3,000.00	\$140.00	\$4,200.00	\$166.00	\$4,980.00	\$500.00	\$15,000.00	
320	Salvage Existing Landscape Tree	6	EA	\$340.00	\$2,040.00	\$200.00	\$1,200.00	\$912.00	\$5,472.00	\$500.00	\$3,000.00	
325	Remove Existing Landscape Tree	5	EA	\$300.00	\$1,500.00	\$200.00	\$1,000.00	\$476.00	\$2,380.00	\$200.00	\$1,000.00	
345	Watering	100	HR	\$105.00	\$10,500.00	\$85.00	\$8,500.00	\$15.00	\$1,500.00	\$100.00	\$10,000.00	
OTAL	SCHEDULE I				\$174,340.00		\$186,480.00		\$225,540.00		\$227,800.00	
	ULE IV - STORM SEWER											
1000	Storm Sewer Pipe, 4 Inch Diameter, Ductile Iron Unlined, Class	s 35	LF	\$35.00	\$1,225.00	\$29.00	\$1,015.00	\$30.00	\$1,050.00	\$40.00	\$1,400.00	
1110	Type 50 Area Drain	2	EA	\$500.00	\$1,000.00	\$250.00	\$500.00	\$300.00	\$600.00	\$1,000.00	\$2,000.00	
4135	Remove Existing Storm Sewer Pipe or Culvert	35	LF	\$8.00	\$280.00	\$3.00	\$105.00	\$15.00	\$525.00	\$15.00	\$525.00	
4175	Crushed Surfacing Top Course, 5/8 Inch Minus	10	TON	\$32.00	\$320.00	\$22.00	\$220.00	\$30.00	\$300.00	\$25.00	\$250.00	

CITY OF KENT	6		7		8						
·			Dennis R. Craig Cons	struction	Construct Co.		Pivetta Brothers Co	nstruction	Garrett Inouye		
BID OPENING: October 21, 2009		NAME A	.ND	P.O. BOX 595		1621 Pease Avenue		P.O. BOX 370		Engineer's Estimate	
		ADDRES	SS	Redmond, WA 9807	73	Sumner, WA 98390		Sumner, WA 98390	)		
		TOTAL			\$332,195.00		\$345,811.00		\$394,437.00		\$394,255
ITEM					TOTAL		TOTAL		TOTAL		TO
NO. DESCRIPTION Q	UANTITY		UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN	UNIT PRICE	AMOU
TOTAL SCHEDULE IV					\$2,825.00		\$1,840.00		\$2,475.00		\$4,175
SCHEDULE V - TRAFFIC CONTROL											
5005 Flaggers and Spotters		850	HR	\$42.00	\$35,700.00	\$40.00	\$34,000.00	\$40.00	\$34,000.00	\$40.00	\$34,000
5015 Traffic Control Supervisor		200	HR	\$45.00	\$9,000.00	\$48.00	\$9,600.00	\$45.00	\$9,000.00	\$45.00	\$9,000
5020 Other Temporary Traffic Control		1	LS	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00	\$1,000.00	\$1,000
5035 Sequential Arrow Sign		400	HR	\$7.00	\$2,800.00	\$11.00	\$4,400.00	\$6.00	\$2,400.00	\$10.00	\$4,000
5105 Double Yellow Center Paint Stripe		10	LF	\$50.00	\$500.00	\$36.00	\$360.00	\$39.00	\$390.00	\$10.00	\$100
5115 Plastic No Parking Zone		50	LF	\$10.00	\$500.00	\$8.00	\$400.00	\$8.00	\$400.00	\$10.00	\$500
5120 Plastic Crosswalk Line		10	SF	\$40.00	\$400.00	\$36.00	\$360.00	\$39.00	\$390.00	\$10.00	\$100
TOTAL SCHEDULE V					\$50,900.00		\$50,620.00		\$48,330.00		\$48,700
SCHEDULE VI - ELECTRICAL											
6005 Illumination System		1	LS	\$52,000.00	\$52,000.00	\$52,500.00	\$52,500.00	\$87,000.00	\$87,000.00	\$85,000.00	\$85,00
6010 Manual Excavation and Tree Root Removal		100	HR	\$140.00	\$14,000.00	\$225.00	\$22,500.00	\$61.00	\$6,100.00	\$50.00	\$5,000
6080 Street Tree Bollard with Electrical Receptacle		3	EA	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00	\$800.00	\$2,400.00	\$800.00	\$2,40
TOTAL SCHEDULE VI					\$70,500.00		\$79,500.00		\$95,500.00		\$92,400
SCHEDULE VII - TEMPORARY EROSION AND SEDIMENTA	TION CO	NTROL									
7005 Silt Fence		100	LF	\$5.00	\$500.00	\$5.00	\$500.00	\$6.00	\$600.00	\$5.00	\$500
7015 Inlet Protection		8	EA	\$110.00	\$880.00	\$52.00	\$416.00	\$75.00	\$600.00	\$85.00	\$680
7020 Straw Mulch		25	SY	\$15.00	\$375.00	\$1.00	\$25.00	\$1.00	\$25.00	\$5.00	\$125
7055 Erosion/Water Pollution Control		1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000
TOTAL SCHEDULE VII					\$11,755.00		\$10,941.00		\$11,225.00		\$11,305
SCHEDULE VIII - ROADSIDE RESTORATION											
8000 Street Tree, Including Planting and Staking		3	EA	\$250.00	\$750.00	\$1,900.00	\$5,700.00	\$750.00	\$2,250.00	\$750.00	\$2,250
8001 Seeding, Fertilizing and Mulching		0.5	AC	\$2,500.00	\$1,250.00	\$3,400.00	\$1,700.00	\$3,000.00	\$1,500.00	\$2,000.00	\$1,000
8005 Topsoil Type A		50	CY	\$50.00	\$2,500.00	\$47.00	\$2,350.00	\$60.00	\$3,000.00	\$40.00	\$2,000
8010 Sod Installation		25	SY	\$30.00	\$750.00	\$17.00	\$425.00	\$15.00	\$375.00	\$9.00	\$22
Bons Bark or Wood Chip Mulch		25	CY	\$65.00	\$1,625.00	\$57.00	\$1,425.00	\$60.00	\$1,500.00	\$35.00	\$87
48 Inch Square Ductile Iron "Kent" Tree Grate (2 Piec	ces)	3	EA	\$2,500.00	\$7,500.00	\$1,500.00	\$4,500.00	\$757.00	\$2,271.00	\$925.00	\$2,77
8030 Tree Grate and Frame Installation		3	EA	\$2,500.00	\$7,500.00	\$110.00	\$330.00	\$157.00	\$471.00	\$250.00	\$750
TOTAL SCHEDULE VIII					\$21,875.00		\$16,430.00		\$11,367.00		\$9,875
SCHEDULE SUMMARY											
SCHEDULE I - STREET					\$174,340.00		\$186,480.00		\$225,540.00		\$227,80
SCHEDULE IV - STORMWATER					\$2,825.00		\$1,840.00		\$2,475.00		\$4,17
SCHEDULE V - TRAFFIC CONTROL					\$50,900.00		\$50,620.00		\$48,330.00		\$48,70
SCHEDULE VI - ELECTRICAL					\$70,500.00		\$79,500.00		\$95,500.00		\$92,40
SCHEDULE VII - TEMPORARY EROSION AND SEDIMEN	NTATION	CONTRO	L		\$11,755.00		\$10,941.00		\$11,225.00		\$11,30
SCHEDULE VIII - ROADSIDE RESTORATION					\$21,875.00		\$16,430.00		\$11,367.00		\$9,87
CONSTRUCTION CONTRACT TOTAL					\$332,195.00		\$345,811.00		\$394,437.00		\$394,25
CONSTRUCTION CONTRACT TOTAL				1	⊅33∠,173.0U	1	<b>\$343,011.00</b>	1	JJ74,431.UU	1	JJ74.2